Id

1

Question

saﬁ@ﬁam%maéamﬁmgm%&hw%?

A &

B e

C

D T

Answer D

Id 2

Question | =53 F &leT T 2 FHIclaTdeh T ¢ ?
A I A O araT AL gl |

B dg el STAem ?

C TNl 3T I |

D 9g U3 & A § |

Answer |A

Id 3

Question |siey @ Qreg IRHATUTSIES fawor 82
A W MW gy

B IR ITsT

C qd T

D SAH q S TG

Answer |A




Id

4

Question

7T A T 3769 91T U7 i T & 2

A

31,31

B &, I

C o, ¢

D W%, 97

Answer |B

Id 5

Question frafaf@d & FiaT Tax 7T & 2

A ki1

B 3

C T

D e

Answer |D

Id 6

Question | RrfAfAT 9 '3 U P & §4 § |37 & Hied - AT 9g Teld
g2

A afaen

B ATATTSThR

C HifAs

D giateh

Answer D




Id 7
Question | yyrqaTeres HAT SI13U-
A CECIRG
B EESRE]
C CEERG
D CECIESD]
Answer |C
Id 8
Question | rAfaf@d el & & TAfer ersel &1 Tga ffFT -
A 3TOXTE
B I
C Fae
D EATGAT
Answer |D
Id 9
Question | Ry ereg 3 SRIFd 3949 & -
A =
B R
C )

3
D I

3
B

Answer




Id 10
Question rafaf@d & @ i 3A9EE & 2
A faaeT
B HETATOT
C HYFA ol
D 37eqYToT
Answer |A
Id 11
Question | ZfyaT FATH T 3ETEX0T HieT - 7T & 2
A e
B ot -
C ERUGE
9
D EEiCT]
Answer |D
Id 12
Question AT ey &1 yaford &7 & -
A ae
B SToTeTST
C T3 Srelr
D CEEIER
Answer |C




Id 13
Question =3} ¥ it T 2 ey & 2
A — n

B S

¢ feg

D [EC)

Answer | A

Id 14

Question g4t @ sleT AT Asg FaTFRS & 2
A 93 ¥ Bl [RT |

B Ha gR 1 gamar |

C o5 U3 @ IR |

D g AlgeT &I ¥4I ST ¢ |
Answer | B

Id 15

Question g} wor Rear Far &1 & 2
A ,

B |

C i

b ST § HIg el

Answer |C




Id 16

Question g1 & fhdar & gl 82

A Th
B ar
C IR
D ard
Answer |B
Id 17

Question =13} & &leT T 2eg HT & FeTl g3m Qo § 2

A ST

B arofy
)
C e
D Sifd
Answer |B
Id 18
Question | zxerguT ST & TATAT & |
A IGRE
B HIH

C (A) 3R (B) gt

b ST U FIS e

Answer |A




Id 19

Question |gayar fr e & AT fFaer TR & g &2

A o

B IR

C ar

D ST U FIS G
Answer C

Id 20

Question m@ﬁmamﬁw—myawi‘??

A ITcHISY

B UehdRT
C Thaldr
D GRS

Answer |B




ID 21-23
Question Type Comprehension
Main Text In each of the following questions find out the alternative which
will replace the questions mark
AT T T g A® WA H a IoH ¥ T § | AT uge
gIH & Q& Yal H Teh FFeH AT IAr § aUr g goA
%1 Ueh Ug ofcd ¢ | & a4 fahedl & @ dg fAshod I
ST g IIHA & Ug § TAT FFaey 3@ & |
Question Mountain : Hill : : River : ?
qdd : UGS : odr : ?
A Canal
olg{
B Ocean
o
C Glacier
TR
D Road
dsh
Answer A
Question Amber : Yellow : : Carmine : ?
I O - I ol ?
A Red

offel




B Green
el
C Blue
GICI)
D Violet
ofaret
Answer A
Question Earth : Axis : : Wheel : ?
t(r'z?:ﬁ - 3187« gfgar 2
A Type
AL
B Road
dsh
C Hub
o
D Car
cary
Answer C




Id 24
Question | Amit said — “This girl is the wife of the grandson of my mother.” How is
Amit related to the girl?
HfAT Fgar & T "Ig oIS AY AT & 9F fF geelt § 7 HfAT HT
39 oIS T FIT qFaY g2
A Brother
S
B Grandfather
alal
C Husband
gfd
D Father-in-Law
ikl
Answer |D
Id 25
Question |Pointing to Ram, Shyam said, “I am the only son of one of the sons of his
father. “How i1s Ram related to Shyam?
TH I 3R FART A §U TTH Fgcl ¢ fb "& g Tar & ¢ &
& freh vk g7 &1 shellar g7 ¢
A Nephew
ST
B Uncle
Bl
C Father or uncle
oar ar I
D Father
o
Answer C




ID 26-28

Question Type Comprehension

Main Text In each of the following questions, four pairs of word are given out
of which the words in three pairs bear a certain common
relationship. Choose the pairs in which the words are differently
related.
A i I A% Uk H Usal & IR oA Y I §
S @ A oAl & Toh AT G §| dur Wur IA
et 8| e Teaeer arel Joa &l gAY |

Question Choose the pair which is different in relation.
Ao ey arel oA 1 A

A Smell : Nose
e : il

B Hear : Ears
Holadl 1 ol
)

C Tongue : Taste
SiTeT © EdTG el

D See : Eye
S®eT : @

Answer C

Question Choose the pair which is different in relation.
Ao ey arel oA T A

A Petrol : Car
deliel : PR

B Ink : Pen




EIIET - Ued

C Garbage : Dustbin
Tkl ZGRSIC\IG'I
D Lead : Pencil
arar : afead
Answer C
Question Choose the pair which is different in relation.
e FFa=y aTel JIH T |
A Hard : Soft
FOR : FATIH
B Long : High
AFET 3T
C Sweet : Sour
Hror »dccl
D Pointed : Blunt
Answer B




Id 29

Question |In certain code language, POND is coded as RSTL, how is HEAR written in
that code?
e TR H18 AT H POND &I RSTL for@r Srar g ar 348 &I
YT H HEAR &I & for@r smdem?

A GHIJ

B GHIZ

C JIGZ

D JCLZ

Answer |C

Id 30

Question |If GOLD is coded as HOME, COME is coded as DONE and CORD is coded
as CODE, how would you code SONS?
If¢ GOLD &I HOME dUT COME &I DONE, 94T CORD &I DOSE
for@r Srar & af SONS &I &hd fer@r Jriem?

A TPOT

B TOOT

C TOOS

D TONT

Answer |B

Id 31

Question |In a certain code, CALANDER is written as CALCNDER. How is
CIRCULAR written in that code?
s AT $8 AT H CALANDER &I CLANAEDR for@r sirar &
dr 38T 8T & CIRCULAR &t &a for@ar smem?

A ICCRLURA

B CRIUCLRA

C ICRCLUAR

D CRIUCALR

Answer D




ID 32-34

Question Type Comprehension

Main Text In each of the following questions a number series is given with
one tern missing. Choose the correct alternative that will continue
the same pattern and fill in the blank spaces.
AT T I gAH weT H U Ao & =i § TwH v
7e ded ¢ | R fawedt # & 3@ @ Rwew F1 g S
&r AT Aol T ATEROT AT & |

Question 17,39, 83, 171, ......7 .......

A 198

B 238

C 347

D 359

Answer C

Question 11,13,17,19,23,29,31,37, ...... 7 .......

A 125

B 112

C 127

D 118

Answer B

Question 13,9,13,12,13, 15,13, ..... 7 ........

A 18

B 17

C 21

D 19

Answer A




ID 35-37

Question Type Comprehension

Main Text Read the following information carefully and answer the question
given below.
A, B, C, X, Y and Z are seated in a straight line facing north. C is
third to the right of Z and B sits second to the right of C. X sits to
the immediate right of A.
A & TR ST @l SAAYdS g qur & = geat
% IWATA | A B, C, X, Y TUN Z 3 & 3N #Hg
P Th AT W A SS E | C, Z & gF dF TUT W
ST § dUT B, C & g gl T W & | X, A & Thed
ar dar ¢ |

Question Which of the following represents the pair of persons sitting exactly
in the middle of the line?
feT @ dlerar gow @1 @ TheH §iT A dar 872

A XB

B 7B

C BX

D XC

Answer D

Question What is X’s position with respect to Z?
Z & gFaeY X F T HiAdr §7?

A Immediate right to Z
Z % UhcH e

B Second to the left

¢ ¥ g




Third to the right
o & e
D Third to the left
ad ¥ gEr
Answer D
Question Three of following four are alike in a certain way based on their
sitting positions in the above arrangement and so form a group.
Which is the one that does not belong to the group?
A 6d IR fdshedl # § diel, 3 & I8 H 30
oo & TUH § AR T [AfRud alsh & AT ¢ aum
U TAE S & | & i 3@ ang F A6 3nar §
A ZA
B XC
C CY
D XA
Answer B
Id 38
Question | Arrange the words given below in a meaningful sequence.
1. wood 2. Plant 3. Table 4. Tree 5. Seed
ST oY I Uusel A THh ATdF H Iafedd &l |
l.ofhsr  2.9fem 3. AS 4.9 S.d
A , 1, 3.
B 3, 5, 4.
C 2, 4, 5.
D 4, 3, 5.
Answer |A




Id 39

Question | Arrange the words given below in a meaningful sequence.
1. Marriage 2. Education 3. Birth 4. Death 5. Funeral
S & I ereel ol Uk AdF H aredd i |
LA 2.RET 3.SeA  4.7cg 5. 3HedH - HERR

A 3, 1, 4, 5, 2.

B 2, 3,4,5, 1.

C 3,2, 1, 4, 5.

D 5, 2,3, 1, 4.

Answer |C

Id 40

Question | Arrange the words given below in a meaningful sequence.
1. Milk 2.Grass 3. Cow 4. Butter 5. Curd
AT G I ereel & U Arde H cafeyd Y |
gy 291 3.9 4. AFET  5.¢80

A 3,2, 1,5, 4

B 3, 1, 2, 5, 4.

C 2, 1, 3, 4, 5.

D 2,3, 1,4,5

Answer |A

Id 41

Question |In the following sentences a word or phrase is written in bold .Choose the
word nearest in meaning to bold part.
The resignation of the chief minister is intriguing

A Curious

B Interesting

C Secret

D Diplomatic

Answer |A




Id 42

Question |Select the word that is most similar in meaning.
Extol

A Steal

B Praise

C Exterior

D Excess

Answer |B

Id 43

Question |Choose the correct alternative out of the four
He told me that he--------- watching the movie.

A Is finished

B Was finished

C Had finished

D Not finished

Answer |C

Id 44

Question |In questions choose the word opposite in meaning to the given word
Demolish

A Shift

B Build

C Repeat

D Hide

Answer |B




Id 45

Question |In the following questions, some parts have been jumbled up. You are
required to rearrange these parts, which are labeled P,Q,R and S to produce
the correct sentence
Kapil , left in an aeroplane /(P), after reading a sailing magazine/(Q), had
decided/(R), to build his own boat nine years earlier /(S)

A PRQS

B RSQP

C RQPS

D PSRQ

Answer |B

Id 46

Question | Pick out the most effective word from the given words to fill in the blanks to
make the sentence meaningfully completed
Anita ------------ me of a girl [ used to know

A Remember

B Recalls

C Recollects

D Reminds

Answer |D

Id 47

Question |Select the option which contains the correct sentence among four

A There is no meaning in what you say

B There is no meaning in that you say

C There is no meaning as to what you say

D There is no meaning that you say

Answer

A




Id 48
Question |In each of the following questions, choose the correctly spelt word
A Overlapped
B Overlaped
C Overleped
D Overlaped
Answer |A
Id 49
Question | The ------ of glory lead but to the --------
A Ways , happiness
B Acts , prosperity
C Paths, grave
D Achievements , suffering
Answer |C
Id 50
Question
Write the correct Direct Indirect
Nita ordered her servant to bring her cup of tea.
A Nita told her servant, "Bring a cup of tea."
B Nita said, "Bring me a cup of tea."
C Nita said to her servant, "Bring me a cup of tea."
D Nita told her servant, "Bring her that cup of tea."

Answer

C




Id 51

Question | Select the correct plural forms.
Codex

A codium

B codices

C codexes

D None of the above

Answer |B

Id 52

Question | Write correct Idioms and Phrases
Keep your eyes peeled

A To watch carefully

B Searching someone

C Looking forward

D Running away

Answer |A

Id 53

Question | Write the correct Tenses
She still remembers the day when she first........ to church.

A went

B was going

C gone

D going

Answer |A




Id 54
Question |In these questions, a sentence has been given in Active/Passive Voice. Out of
the four suggested alternatives, select the one which best expresses the same
sentence Passive/Active Voice.
Who can question Gandhi’s integrity ?
A By whom Gandhi’s integrity can be questioned ?
B By whom can Gandhi’s integrity be questioned ?
C Gandhi’s integrity can be questioned by whom ?
D Who could have questioned Gandhi’s integrity ?
Answer |B
Id 55
Question |Select Correct Word
A Asassination
B Assasination
C Assassination
D Assessination
Answer |C
Id 56
Question | Select the proper prefix.
Collegiate
A inter
B by
C un
D in
Answer |A




Id 57
Question | A car was lying on the load side — against a lorry.
A ram
B rams
C ramming
D rammed
Answer |D
Id 58
Question | Select the word or the phrase which is closest to the opposite in meaning of
the bold word or phrase.
They approached the stranger warily.
A Suspiciously
B Cautiously
C Carefully
D Carelessly
Answer |B
Id 59
Question | Write the sentence improvement
I am tired I am working since 7,0' clock in the morning
A I was working
B I had been working
C I have been working
D No improvement

Answer

C




Id 60

Question |Select the word which match same as the group of words given.
a family of young animals

A nest

B brood

C offspring

D clutch

Answer |B

Id 61

Question | Who will be the first woman president of the Indian National Science
Academy (INSA)?
Sl HRAT ITSCT TAATT PIGAT (IBUATHT) Fr Tgeir Afgell
3regeT giaf?

A Chandrima Shaha
qiGAT 2Mg

B Debjani Ghosh
e ICIlGIN]

C Gita Mittal
M fAder

D Gita Gopinath
AT I

Answer |A




Id 62
Question |Ghotu Ram Meena has been appointed as the next Ambassador of India to
which country?
g TH HUT A1 6T ST A 0T & 3097 Tslgd & &7 H fAgerd
forar amar 87
A Ghana
HTeIT
B Republic of Congo
TN AORTST
C Nigeria
TSI AT
D Niger
GIESES
Answer |B
Id 63
Question | Who has won a silver medal in the Medved wrestling tournament?
Rre A533 FUN CHieT & T TaF e 22
A Sakshi Malik
arer Afereh
B Babita Kumari
ST FHART
C Vinesh Phogat
faster wieme
D Kavita Devi
Hiadr gl
Answer |C




Id 64

Question |RPF of Indian Railways launched an Operation to identify and verify all
vehicles parked in Railway premises. What is the name of this operation?
HRATE & 3 aRE H @3 @l argar & ugar 3R qeardd &
foT ueh TR YE haT| g7 HTRAT T AT 4T §7?

A Bandar
CrRy

B Shakti
Afee

C Number Plate
e TelT

D UNNATI
Joedid

Answer |C

Id 65

Question | Who has launched the Swachh Survekshan 2020 (SS 2020), the fifth edition
of the annual cleanliness survey?
fraer grad AT FaTodl deTuT 'TaTs Hdefur 2020 (THTH
2020)" shr EIMMA HI?

A Arjun Munda
A e

B Prakash Javadekar
YehTA SATIIHT

C Dharmendra Pradhan
g T

D Hardeep Singh Puri
g g gl

Answer |D




Id 66
Question | Who inaugurated an international conference on teacher education in New
Delhi?
e o 7% fSooll & e NGT W T HRTSET FFAAT Hl
3cares fhar?
A Raj Nath Singh
T 88
B Ramesh Pokhriyal ‘Nishank’
A NERATT Feren
C Amit Shah
HfAT g
D Nitin Jairam Gadkari
ICIGGECENE NI ECa
Answer |B
Id 67
Question |In which city, Gorewada International Zoo is located?
forer erex & aiRareT sy fafsarr fua 82
A Kanpur
PTTH
B Nagpur
AR
C Hyderabad
geree
D Jaipur
IR
Answer |B




Id 68
Question |Jaitapur nuclear power project is being built in with the partnership of which
country?
STATgY. RATY] ST IRASHAT fohe 2r ATl & §=11$ ST &
g?
A Russia
&
B Japan
SISIGE
C Germany
STH=T
D France
K]
Answer |D
Id 69
Question | Which day was observed as World Humanitarian Day?
e & &1 f29 AT 6o & §9 H HAT 7A1?
A 15 August
15 3HIrEd
B 17 August
17 3MdTed
C 20 August
20 3HIrEd
D 19 August
19 3HIred
Answer |D




Id 70
Question |From which state, Former Prime Minister Manmohan Singh was elected
unopposed to the Rajya Sabha?
fFE UsT 8 gd guaAdT AdART g A Toadr & fav @Afddy
?:IDFIT IgqT?
A Uttar Pradesh
ESRERCA])
B Chhattisgarh
BArHIG
C Madhya Pradesh
qET Y
D Rajasthan
T ETTT
Answer |D
Id 71
Question |In which city, National Conference of Tourism Ministers concluded?
frg 8T § gdead AT T TSET GFAT e g3
A Jaipur
I
B Kolkata
CACEaG|]
C Mumbai
HIS
D New Delhi
7S el
Answer |D




Id 72
Question | Who has been appointed as the MD and CEO of Idea-Vodafone?
fergent JMSfSaT - AISTHIA & THST 3R WS & & # fogerd
forar s g
A Rajiv Kumar
TSflg AR
B Sarada Kumar Hota
T FAR grer
C Ravinder Takkar
de e
D Madhur Deora
HEYT gast
Answer |C
Id 73
Question | Who has been appointed as the next Cabinet Secretary for a tenure of two
ears?
XE?WE\THM & FHDIAT & foIT 39Tel Hidelc Tfdad & & &
fagera fohar I 872
A Rajiv Gauba
SyEICEEICH
B Pramod Kumar Misra
yHle FAR AT
C Atanu Chakraborty
3cle] Tshacll
D Vijay Keshav Gokhale
fasTa &erg ai@er
Answer |A




Id 74

Question | With which country, India has signed six memorandum of understanding in
several areas including geology, defence, arts and culture?
forer Sor & A1 R o HiAA, &M, dhell AR FEp(T T S
& H B FHSIIAT ATl ] gEAER U g7

A Guinea
ialo'a il

B Namibia
ATHIST

C Gambia
MFESAT

D Zambia
SATTESAT

Answer |D

Id 75

Question |ISRO will help to which country for the launching of its first spacecraft
"Hope Probe" next year?
s, fhg 22 & ugel 3AaReT I "gIT WE" & Weur § Heg
M?

A UAE

B Saudi Arabia
3T 3RS

C Nepal
AqTeT

D Sri Lanka
AreTent

Answer |A




Id 76
Question | Who has launched the book ‘The Diary of Manu Gandhi’ (1943-44)?
foreal 'g ST 3% #He el g&cish (1943-44) &I AR fham
A Prahlad Singh Patel
ygele g gl
B Narendra Singh Tomar
Mg g aeR
C Thawar Chand Gehlot
PR e, Igerd
D Dharmendra Pradhan
THG T
Answer |A
Id 77
Question | Who has been appointed as Defence Secretary in the Ministry of Defence?
foraent & AT | &M aRT & T A [AgEd fhar mar 82
A Ajay Kumar
El
B Nripendra Misra
JAwg A
C Pramod Kumar Misra
yHle FAR AT
D Samant Goel
qrAT I
Answer |A




Id 78
Question | From which month, FASTags will become mandatory for all vehicles?
wd O Tr argAr & folv FASTags 3ffeardr g simeen?
A November 2019
oIdsX 2019
B December 2019
feaet 2019
C October 2019
3feFgsiT 2019
D August 2020
39T 2020
Answer |B
Id 79
Question | Who will be India's new Batting coach?
AR T 747 T T FleT gram?
A Vikram Rathour
fase ek
B Sanjay Bangar
Jog dMd
C Bharat Arun
HAIT 30T
D R Sridhar
AR AR
Answer |A




Id

80

Question

P V Sindhu became the first Indian to win BWF World Championships gold
medal by beating Nozomi Okuhara of Japan in Basel, Switzerland. She is
from which state?

dr dr e Pacorels & aha & ST Y ASHT NFERT
g dNgseUth faeg ARIATRAT F1 Faol g sl arelr ggell
HRAT S6if| a8 g TsT ¥ g7

Haryana
g

Madhya Pradesh
qET Y

Telangana

REElGI

Andhra Pradesh
3TY 9T

Answer

C




Id 81

Question
What sum of money must be given at simple interest for six months at 4%
per annum in order to earn Rs. 150 interest?
T 150 SIS 9o & & foIU fohdel T &1 6 7 & fov 4%
STl ¥ W FTURUT IS W AT 9T ?

A Rs. 5000

B Rs. 7500

C Rs. 10000

D Rs. 15000

Answer |B

Id 82

Question
The simple interest on a certain sum at 5% per annum for 3 years and 4 years
differ by Rs. 42. The sum is :
el U 9T 5% a1l sareT $r a7 @ 3 anf 3 4 asf & grea
GIROT Tl & T 42 &7 IR g1 ag i Jan ?

A Rs. 210

B Rs. 280

C Rs. 750

D Rs. 840

Answer |D




Id

83

Question

The difference between the simple interest received from two different
sources on Rs. 1500 for 3 years is Rs. 13.50. The difference between their
rates of interest is :

T 1500 &1 YUY 9T 3 a¥ T ar Pead Frdar & 9ed saref i
AT T 13.50 g1 o 3aThr sTTST e & 3] STy

0.1%

0.2%

0.3%

o Q| w >

0.4%

Answer

C

Id

84

Question

A sum of Rs. 10,000 is rent partly at 8% and remaining at 10% per annum. If
the yearly interest on the average is 9.2%, the two parts are

% 10,000 T IR T FS #ET 8% AT & F TAT AV T 10%
$r &X @ YR &A1 &1 I 38! AT ari¥sh sarT e 9.2% 8,
alel #aT gl

Rs. 4000, Rs. 6000

Rs. 4500, Rs. 5500

Rs. 5000, Rs. 5000

o a|m | »

Rs. 5500, Rs. 4500

Answer

A




Id 85
Question .
The simple interest on a sum of money is 5 of the principal and the
number of years is equal to the rate percent per annum. The rate per annum is
el Y &7 ArUReT e A w2 #1 IR Rw v om )
SITST T a1 &Y qUT AT FATS gl A SISl &I AT grefr ?
A 5%
B 2,
6 3 Yo
C 6%
D 1,
7 5 Y0
Answer |B
Id 86
Question ,
In what time will the simple interest be 5 of the principle at 8 percent per
annum ?
R @ # 8% H AT X & WURTT AT H AAGA 2
grem ?
A 8 years
B [ years
C S years
D 6 years
Answer |C




Id 87
Question ' . .
A can do a piece of work in 15 days and B in 20 days. If they together work
it for 4 days, then the fraction of the work that is left is:
A Th HH F 15 Gar # dur B 20 el & X Fhar g | 3G I
4 ol e U WA HIA A § a AT HA Fohcarr fowar s g3m
3
A 8
15
B 7
15
C 1
4
D 1
10
Answer |A
Id 88
Question _ o
A and B together can complete a work in 10 days. A alone can do it in 40
days. In how many days B alone can complete it?
37 3R § e R &1 # 10 fod § & Thd &1 37 3ar 39
40 foT 7 X Hhcl §1 T HI 3ol & 3H 1A A QU A A
fohdaT AT ofaem?
A 40
3
B 10
C 8
D 30/7
Answer |A




Id 89
Question '
Ram can complete Y4 th part of work in 8 days and Shyam can complete 2/4
th of the work in 6 days and Naresh can complete ¥4th the work in 12 days.
In how many days can they together complete it?
TH,1/4 & A 8 el # JAT ITH 2/4 FF FI 6 &l H FATCT
A & AT TR 3/4 AET HA 12 &t 7 ar gl ar fer fFeoe
38 S A fhde Gt # HATST -
A 1
6 17
B il
3 17
C 11
8 17
D il
! 17
Answer |B
Id 90
Question
A, B and C together can do a work in 8 days if A and B can do it in 20 and
30 days respectively. In how many days C alone can complete it?
},g JUT T Ao fhelt &3 #r 8 o & ) Tha &1 IfT
3hel 20 foaT T2 § 30 f&d & & TFhar g1 dr gad T 3fehell
forctetr f&at # g&l o I QU HEn?
A 16
B 18
C 20
D 24
Answer |D




Id

91

Question

P takes 5 more hours to complete a work in comparison to Q. They work
together for 6 hours. In how many days can Q complete the same work.

forell I &I QU A H P HT ool H Q 5 € 31T oIl &
3egiel [Aele] 3 HY AT 6 8¢ # QT fhAT| Q Hhell 38 HRT &l
T A H forcdelT THT AAT?

8 hours

8 uc

10 hours

10 @¢

12 hours

12 ae

15 hours

15 @¢

Answer

B

Id

92

Question

A complete a work at four times the speed than C. If together they can
complete a work in 20 days, in how many days can A alone complete it?

A T8 @A T C I YT TR T[T doll & HH ol ¢l i
el AT REY FT & 20 & & AT A g, A 38T dT Hl
fhasy o & gATCT FM?

25

100

75

o QO w| >

80

Answer

A




Id 93

Question
Shyam can work at thrice the speed than Naresh. If together they can
complete a work in 32 days, in how many days can Naresh alone complete
it?
RYTH, 7L AT VLT T I[T Jol & 1A FXar g1 Ife ekt foralr
A B 32 oA # FACT A 8, dl 7R 37 HH HI fohla &7 A
JATCT HAM?

A 120

B 128

C 124

D 144

Answer |B

Id 94

Question
Ratio between the time taken by A and B to complete a certain work is 4:5. If
together they can complete a work in 20 days, in how many days can A alone
complete it?
AR B& canr Aad 10 # o THT #7360 8:9 g T
il fATT S A1 0 AT H FATCT Xd § dl A 3mal fhaat
fat & 39 7 & AT Fam|

A 30

B 32

C 36

D 45

Answer |C




Id 95

Question
A single person takes 4 minutes to type a page, if from 12 noon to 1.00 pm.,
1080 pages are to be typed, how many persons should be employed on this
job?
Teh Ifed I Ueh Y56 28U el & 4 TAee oferd g1 ar9gt 12.00
g9l ¥ 1.00 99 @& 1080 & €8T oA & T 5 &R g fohelal
ol{T SRMU Sel ATRT?

A 108

B 60

C 90

D 72

Answer |D

Id 96

Question
Amar can complete % work in 3 days and Bhaskar can complete 1/6 th of the
work in 4 days. If they work on it together, they get Rs 1800. Find the
amount received by Amar.
HAT el 1 & 1/4 AT A 3 o7 o HEe 38T HT & 1/6
HIET 4 &7 #H QU & Fohell &l IS ST AR I N G Y
dr 1800 ®9 & Ageldlsl # & A &l fehcell T fAelan?

A Rs. 600

B Rs. 1000

C Rs. 1080

D Rs. 1200

Answer |D




Id
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Question

Navneet and Prabhat can complete a work in 20 and 25 days respectively.
They work for Rs 4500. Find their wages.

Aol TUT THT fohdl A 1 hAM: 20 6T Ta 25 e # &Y
T 1 Al Aoy 4500 T & T dgFd &9 § H ST
Y& R FF FATTT & I el T Holgll eT-3eT ha:
AT HL?

Rs 2000, Rs 2500

Rs 3000, Rs 1500

Rs 2500, Rs 2000

o Q| w| >

Rs 3500, Rs 1000

Answer

C




Id
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Question

Ram and Naresh can complete a work in 20 days while Naresh takes 36
days. They get Rs 720 for it. Find salary of Ram.

TH U9 R R 3 & 20 &t & FATT a8, Stafh aRer
gHl & &I 36 el H HATCT HIar gl el & Holgdl & &7
720 &9 fHeId §1 SHA UH 1 ASlGY & & A fohclsll ThA T
gref?

Rs 300
300 93

Rs 380
380 93

Rs 400
400 T9

Rs 320
320 93

Answer

D




Id

929

Question

Ramesh and Dinesh can complete a work in 15 and 20 days respectively.
Ramesh started working but after 5 days Dinesh replaced Ramesh. Find the
share of Dinesh in Rs 15000

A Ua feAAer farelt s @ AT 15 T v 20 faT & @
1 WY A F AT YE FAT 741 5 ot & 9l T & T |
fearer F I o@m| FE-FAICT & alg 15000 T AT Fel
Holgll # & fearer &t vl &9 fAeiaN?

Rs 5000
5000 &9

Rs 9000
9000 FII

Rs 10000
10000 T9

D

Rs 8000
8000 T9A

Answer

C

Id

100

Question

30 Men can complete a work in 25 days. In how many days can 75 men
complete it?

30 3eHT TRAT T & 25 8T & T ohd & dr 34T I & 75
3EAT fohasr fgeT & X grdar?

15

12

16

o Q| w >

10

Answer

D







	Write the correct Direct Indirect
	What sum of money must be given at simple interest for six months at 4% per annum in order to earn Rs. 150 interest?
	रु 150 ब्याज प्राप्त करने के लिए कितने रूपये को 6 महीने के लिए 4% ब्याज दर से साधारण ब्याज पर देना होगा ?
	The simple interest on a certain sum at 5% per annum for 3 years and 4 years differ by Rs. 42. The sum is :
	किसी राशि पर 5% वार्षिक ब्याज की दर से 3 वर्षो और 4 वर्षो में प्राप्त साधारण ब्याजों में रु 42 का अंतर है। वह राशि बताओ ?
	The difference between the simple interest received from two different sources on Rs. 1500 for 3 years is Rs. 13.50. The difference between their rates of interest is :
	रु 1500 की धनराशि पर 3 वर्ष का दो भिन्न स्रोततो से प्राप्त ब्याज का अंतर रु 13.50 है। तो उनकी ब्याज दरों का अंतर बताए।
	A sum of Rs. 10,000 is rent partly at 8% and remaining at 10% per annum. If the yearly interest on the average is 9.2%, the two parts are
	रु 10,000 की राशि का कुछ भाग 8% ब्याज दर से तथा शेष भाग 10% की दर से उधार दिया है। यदि उसकी औसत वार्षिक ब्याज दर 9.2% है, दोनों भाग होंगे।
	The simple interest on a sum of money is of the principal and the number of years is equal to the rate percent per annum. The rate per annum is :
	किसी राशि का साधारण ब्याज मूलधन का है। यदि दिए गए धन पर ब्याज की वार्षिक दर तथा समय समान हो। तो ब्याज दर क्या होगी ?
	In what time will the simple interest be of the principle at 8 percent per annum ?
	कितने समय में 8% की वार्षिक दर से साधारण ब्याज का मूलधन होगा ?
	A can do a piece of work in 15 days and B in 20 days. If they together work it for 4 days, then the fraction of the work that is left is:
	A एक काम को 15 दिनों में तथा B 20 दिनों में कर सकता है । यदि वे 4 दिनों तक एक साथ काम करते है तो अब काम कितना हिस्सा बचा हुआ है
	A and B together can complete a work in 10 days. A alone can do it in 40 days. In how many days B alone can complete it?
	अ और ब मिलकर किसी काम को 10 दिन में कर सकते हैं। अ अकेला इसे 40 दिन में कर सकता है। ब को अकेले ही इस कार्य को पूरा करने में कितना समय लगेगा?
	Ram can complete ¼ th part of work in 8 days and Shyam can complete 2/4 th of the work in 6 days and Naresh can complete ¾th the work in 12 days. In how many days can they together complete it?
	राम,1/4 कार्य को 8 दिनों में तथा श्याम 2/4 कार्य को 6 दिनों में समाप्त करते हैं तथा नरेश 3/4 भाग काम 12 दिनों में करता है। तो तीनों मिलकर उस कार्य को कितने दिनों में समाप्त करेगा-
	A, B and C together can do a work in 8 days if A and B can do it in 20 and 30 days respectively. In how many days C alone can complete it?
	अ,ब तथा स मिलकर किसी काम को 8 दिन में कर सकते हैं। यदि अ अकेले 20 दिन तथा ब 30 दिन में कर सकता है। तो बतायें स अकेला कितना दिन में इसी काम को पूरा करेगा?
	P takes 5 more hours to complete a work in comparison to Q. They work together for 6 hours. In how many days can Q complete the same work.
	किसी कार्य को पूरा करने में P की तुलना में Q 5 घंटे अधिक लेता है। उन्होंनें मिलकर उस कार्य को 6 घंटे में पूरा किया। Q अकेला उस कार्य को पूरा करने में कितना समय लेता?
	A complete a work at four times the speed than C. If together they can complete a work in 20 days, in how many days can A alone complete it?
	A किसी काम को C की अपेक्षा चार गुना तेजी से काम करता है। यदि दोनों मिलकर किसी काम को 20 दिन में समाप्त करते हैं, A उसी कार्य को कितने दिन में समाप्त करेगा?
	Shyam can work at thrice the speed than Naresh. If together they can complete a work in 32 days, in how many days can Naresh alone complete it?
	श्याम, नरेश की अपेक्षा तीन गुना तेजी से काम करता है। यदि दोनों किसी काम को 32 दिन में समाप्त करते हैं, तो नरेश उस काम को कितने दिन में समाप्त करेगा?
	Ratio between the time taken by A and B to complete a certain work is 4:5. If together they can complete a work in 20 days, in how many days can A alone complete it?
	A single person takes 4 minutes to type a page, if from 12 noon to 1.00 pm., 1080 pages are to be typed, how many persons should be employed on this job?
	एक व्यक्ति को एक पृष्ठ टाइप करनें में 4 मिनट लगते हैं। दोपहर 12.00 बजे से 1.00 बजे तक 1080 पृष्ठ टाइप करने के लिए इस कार्य हेतु कितने लोग लगाए जाने चाहिए?
	Amar can complete ¼ work in 3 days and Bhaskar can complete 1/6 th of the work in 4 days. If they work on it together, they get Rs 1800. Find the amount received by Amar.
	अमर किसी कार्य के 1/4 भाग को 3 दिन तथा भास्कर उसी कार्य के 1/6 भाग को 4 दिन में पूरा कर सकता है। यदि दोनों मिलकर कार्य को पूरा करें तो 1800 रूपये के मेहनताने में से अमर को कितनी राशि मिलेंगी?
	Navneet and Prabhat can complete a work in 20 and 25 days respectively. They work for Rs 4500. Find their wages.
	नवनीत तथा प्रभात किसी काम को क्रमशः 20 दिन एवं 25 दिन में कर सकता है। दोनों मिलकर 4500 रूपये के लिए संयुक्त रूप से कार्य करना शुरू किया। कार्य समाप्ति के बाद दोनों की मजदूरी अलग-अलग क्रमशः ज्ञात करें?
	Ram and Naresh can complete a work in 20 days while Naresh takes 36 days. They get Rs 720 for it. Find salary of Ram.
	राम एवं नरेश किसी काम को 20 दिनों में समाप्त करते हैं, जबकि नरेश इसी कार्य को 36 दिनों में समाप्त करता है। दोनों को मजदूरी के रूप में 720 रूपये मिलते हैं। इसमें राम को मजदूरी के रूप में कितनी रकम प्राप्त होगी?
	Ramesh and Dinesh can complete a work in 15 and 20 days respectively. Ramesh started working but after 5 days Dinesh replaced Ramesh. Find the share of Dinesh in Rs 15000
	रमेश एंव दिनेश किसी कार्य को क्रमशः 15 दिन एवं 20 दिन में कर सकते हैं। रमेश ने कार्य करना शुरू किया तथा 5 दिन के बाद रमेश के स्थान पर दिनेश कार्य करने लगा। कार्य-समाप्ति के बाद 15000 रूपये की कुल मजदूरी में से दिनेश को कितने रूपयें मिलेंगे?
	30 Men can complete a work in 25 days. In how many days can 75 men complete it?
	30 आदमी किसी काम को 25 दिन में कर सकते हैं तो उसी काम को 75 आदमी कितने दिन में कर पायेंगे?

